Abd 8 A A

2N 8BS
A FOHMN MO CR(AVDDHF/ABHT)
chelr AZ YR EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
s 785,772 757,272 28,500
ZFOIME Ho| CO(AVTITHEI /A HE) 482,630 467,630 15,000
HAZ el 273,568 268,568 5,000
TSR 2el 14,960 9,960 5,000
201 et HH| 14,460 9,460 5,000
02 2B 2| 14,460 9,460 5,000
O RXHI(RRH, +4H)
217 13,000, 0002 * 14 13,000 8,000 5,000
SHAY =7 10,780 780 10,000
NeZH a2ld =2 10,780 780 10,000
201 et A H| 6,780 780 6,000
01 Ak 22l 6,780 780 6,000
O&oIs HEDS LM +
250,000% +2A| 2H+52 #23] 5,000 0 5,000
OFMa2IIEs 20 BE S|
200,000 *53] 1,000 0 1,000
301 LB A 2,000 0 2,000
10 BAFAIEI 243 2,000 0 2,000
OFMA2IIIols MK 2ty
1,000, 0008 *23] 2,000 0 2,000
401 AIEHIZ S THHI 2,000 0 2,000
01 Al HI 2,000 0 2,000
OXNSBHELS 2ob AHIT, &) H2FA
g oyl 2,000,0008! *13] 2,000 0 2,000
Zolo OHEES 2 ADNY(IELXANL/NALEA 191,362 181,362 10,000
)
FolsRAY £ 67,886 57,886 10,000
ZolME 2HolL A 22,400 12,400 10,000
401 AIEHI L S THHI 20,000 10,000 10,000
03 Al = Ch bl 20,000 10,000 10,000
Oft® 2 H+2 =& IUYXE
10,000,000 10,000 0 10,000
HHSY AU (BYS)(IIEH/IIEH) 109,100 106,600 2,500
SIEET 89,440 86,940 2,500
Y X BIEET 82,540 80,040 2,500
201 et HH| 32,020 29,520 2,500
03 & At2 2 bl 2,500 0 2,500
OZLd &0t3 HSHE X
100, 00021 +25% 2,500 0 2,500
WRUBH(ASBBYH /LB - YY) 1,000 0 1,000




0

o0

2N
X XH
L=}
=

)

#

- HEX

SH
1=

0

o B0
ol 0K

o o o o o
o o o o o
Sl |2 <
A0 A I e A
Klo
E
E=]
o o o o ()
3l
R0
m
o o o o o
o o o o o
CLle|le|(e =2
aor
<
(=
o
o
o
<
ar =
X0 <
B
D
=
-
= _
A D
—_ =
= hlx
o] K0
— =
oF i
s JD
ul 5 =
- 5 o
wl - |3 W
R0 3 | | O
. Wy |5
X b | OF | &
i O | =
=




